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Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 34 questions.

Please write down the serial number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
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paper only and will not write any answer on the answer-script during this period.
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General Instructions :
(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four section: -
B, Cand D.

(iii)  Section A contains 8 questions of one mark each, which are mulrp.:
choice type questions, Section B contains 6 questions of two marks eac
Section C contains 10 questions of three murks each, and Secrio~
contains 10 questions of four marks each.

(iv)  Use of calculators is not permitted.

[ ue A
SECTION A

U G 1 @ 8 dF T 9 Uk 37 %7 2| Tedsh J97 & fofg =R fa&eq faw 2,
for4 @ a1 U G&l ¢ HE fawed T

Question Numbers 1 to 8 carry one mark each. In each of these questions, four
alternative choices have been provided of which only one is correct. Select the

correct choice.

1. mwmoaeh 1122 1220 gt
p pr p
(A) p
B) -»
€ -1
(D) 1
30/1/1 2
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The common difference of the AP lﬁﬂ ..... 1S
p p p

(A) p

B) -»

<€ -1

@ 1

2.  ImFfa1H, uF 9T f9g P 9@ %R C Tt g9 W wi+h 7 < vt [@md PA 99U PB
219 g A B 4 T R 9 PA L PB &, 0 ot Tl W Al oS ©

A
p

B

TP 1
(A) 3@ (B) 43
(C) saH (D) 6 aH

In Fig. 1, PA and PB are two tangents drawn from an external point P to a
circle with centre C and radius 4 cm. If PA L PB, then the length of each

tangent is :
A
P
B
Fig. 1
(A) 3cm (B) 4cm
(€) Scm (D) 6cm
30/1/1 3 [P.T.O.

https-Vbyjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

|C EACER

mpfa 2 #, Tk IgYST ABCD F 37a@wid w5 O I Uk Ja Ei=n w2 S
YSTTeT BC, AB, AD @1 CD %! fageii P, Q, R 99T S T FHIT: T el 2
afe AB=29 #fi, AD=23 &1, ~B=90° g DS=5 &ft ?, at g7 H fr=n
(At ) 2

A) 11 (B) 18
© o6 (D) 15

In Fig. 2, a circle with centre O is inscribed in a quadrilateral ABCD such
that, it touches the sides BC, AB, AD and CD at points P, Q, R and S
respectively. If AB=29 cm, AD=23 ¢cm, #B=90° and DS = 5 cm, then the

radius of the circle (in cm.) is :

R A
</ 4 1
s Q
C PB
Fig. 2
A) 11 (B) 18
€ o (D) 15
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4. 75 I U AR & TR T 317 W @ T R 1 AFT99 R0 30° g | AR
o IR H FRA G (f. ) 7

(A) 2573
(B) 5043
(C) 7573
(D) 150

The angle of depression of a car, standing on the ground, from the top of a
75 m high tower, is 30°. The distance of the car from the base of the tower

(inm.)is :
(A) 253
(B) 503
(C) 753
(D) 150

5. T T8 i Ueh IR %eh I Ueh THEEI] o @7 ol TIFehdl @
(A) (B)

©

A= =
Al W=

The probability of getting an even number, when a die is thrown once, is :

(A) (B)

A= N
AN W=

J (©) (D)
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6. Twam A e R 1T 0 ar v difra | aR wam A @
1= U o Feerell STt 3, a1 36 ok W 23 § T 31T 91 % U

HECARIDCT IR '
O
® 5
© =
© =

A box contains 90 discs, numbered from 1 to 90. If one disc is drawn at

random from the box, the probability that it bears a prime-number less than

23,48 :
7 10
(A) o (B) B
4 9
©) - (D) %5

7. 3Pk 3H, & s BYS ABC w1 &5 (S TwE ) § -

NY

%
ST 3
) (A) 15 (B) 10
(€} 75 D) 2.5
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In Fig. 3, the area of triangle ABC (in sq. units) is :

X
4.,
%
/2
B/ |
-1 0 | ¥
Fig. 3
(Aa) 15 (B) 10
@) 798 (D) 2.5

8.  afy et g % wiema qo Brew w1 o 37 AR, ‘n:=2—72 A W, I H
i (A H) © '
(A) 154
(B) 44
C) 14
(D) 7
If the difference between the circumference and the radius of a circle is

37 cm, then using 7 = 27—2 , the circumference (in cm) of the circle is :
(A) 154
(B) 44
. € 14
D) 7

30/1/1 7 [P.T.O.
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SECTION B

97 GE&IT 9 T 14 T Te3F T % 31 3TF &

Question Numbers 9 to 14 carry two marks each.

9. ﬁw%&mmmﬁx%%mmﬁﬁm
4332 +5x-2/3=0

Solve the following quadratic equation for x :

432 +5x-23=0

10. T 3Tent areft foret e ey 7 9 fwrsa #7

How many three-digit natural numbers are divisible by 7?

11.  3Ffd 4 #, B ABC & <idvia ©ien T g 39eh! C
gselt AB, BC @91 AC =t o fogeh D, E @1 F W
st wal 81 9€ AB = 12 §i, BC = 8 Tl 9w

AC = 10 ¥t ¥, WAD, BRI CF & semaf gr@ T E
Him| -
A ; B
D
FARRIA 4
In Fig. 4, a circle inscribed in triéngle ABC touches &
its sides AB, BC and AC at points D, E
and F respectively. If AB = 12 cm, BC = 8 cm and
AC = 10 cm, then find the lengths of AD, BE and CF. F E
A 'S B
D
Fig. 4

30/1/1 8
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Prove that the parallelogram circumscribing a circle is a rhombus.

13. T o TR @ A 52 U=t Sl aTRT Y TS B ¥ U O Agesdl el
0T | STRIeRAT ST ShiTeTe 36 FremTer e e A ) SrenE & A A S anm B

A card is drawn at random from a well shuffled pack of 52 playing cards.
Find the probability that the drawn card is neither a king nor a queen.

14. 14 3w x7 Tt el o6 U STATHR 1S oIS § g W Wi, ey
AT T G PIS aTet guTeR Zahe e U T | I 5= 1S SIS i SR

Sﬂﬁﬁﬁm[n:%—%?ﬁm]

Two circular pieces of equal radii and maximum area, touching each other

are cut out from a rectangular card board of dimensions 14 cmx7 cm. Find

the area of the remaining card board. [Usext :%%]

RCLERS)
SECTION C

TS GETT 15 T 24 TF I% GoT & did 37 & |

Question Numbers 15 to 24 carry three marks each.

15. ko Tord W o ot foema el fx (x-2) +6 = 0 % qoi 99 &7

For what value of k, are the roots of the quadratic equation kx (x—2) +6 =0

equal ?

30/1/1 9 [P.T.O.
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16.

17

18.

19.

30/1/1

| A0ft 18, 15%, 13, ..., ~49% o U1 hl TEAT F1 ST a1 56k Tl
GEi 1 ATHS F1d T |

Find the number of terms of the AP 18, 15%, 13, ....., —49% and find the

sum of all its terms.

ws Tt St AT i et o 5 o, 4 Al qen 6 9 B | TR T s
ﬁwﬁw@ﬁqmﬁwmﬁwﬁ@mgwsﬁﬁgﬁﬁn

Construct a triangle with sides 5 cm, 4 cm and 6 cm. Then construct

another triangle whose sides are % times the corresponding sides of first

triangle.

 DEnd A A A 15 R T R Y e W e @

RreR 1 e7amma FI07 30° 21 IS g W T S 24 W R, A I @
ST T SIS | [+/3=1.732 §1S ]

The horizontal distance between two poles is 15 m. The angle of depression
of the top of first pole as seen from the top of second pole is 30°. If the
height of the second pole-is 24 m, find the height of the first
pole.[Use\/g=1 F32]

g Hifsie 1% f5g (7, 10), (=2, 5) T (3,-4) U TAfGag TWhlv B3ys &
3 B

Prove that the points (7, 10), (-2, 5) and (3,-4) are the vertices of an

isosceles right triangle.

10
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20. 9% VI A T foom y-3787 fgatt (-4, —6) @ (10, 12) ! e &
YErave F Tl s 2 | faarsa-fog & Feene of 3a Fifs)

Find the ratio in which the y-axis divides the line segment joining the points
(-4, -6) and (10, 12). Also find the coordinates of the point of division.

21, FFfA S H, AB AT CD s O ATc! 6 o &l e = =419 € 941 OB B I7
F M B AR OA = 7 Wft 3, At SEfHd 9T H &F%A T Hifl

[x =2?ﬁﬁm]

7

JFA 5

In Fig.5, AB and CD are two diameters of a circle with centre O, which are

perpendicular to each other. OB is the diameter of the smaller circle. If

OA =7 cm, find the area of the shaded region. [Use ©t =—2§2-]

30/1/1 11 [P.T.O.
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23,

24,
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Teh o Ueh STETERR 2l T SRARd e Sod % MR 1 8§ 576
T A ¢ | FITTTHR 2l o =09 14 S ¥ 991 39 S Y ot S

13 3eft & | 5 1 et g e ST IR [n:272 hfsm]

A vessel is in the form of a hemispherical bowl surmounted by a hollow

cylinder of same diameter. The diameter of the hemispherical bowl 1s

14 cm and the total height of the vessel is 13 cm. Find the total surface area

of the vessel. [Use &t :%2]

ﬁ?ﬁﬁéﬁ@ 31 Sl o Teie (O T 8 S s =1 U areimen wies Ferred

TY, U facin smmn w3k sem A SR 10,8 T 3R IR & B

3.s@m%,aﬁsaf@aﬁmm@mmmaﬁm[nz% o)

A wooden toy was made by scooping out a hemisphere of same radius from

each end of a solid cylinder If the height of the cylinder is 10 cm, and its

base is of radius 3.5 cm, find the volume of wood in the toy.[Use &t =%%]

21 9t B are 9 Sl UF AW, % W 60° H HI Iaka HE B
I I (1) =19 6 @9 (i) I 0 sA U Seaws $ ek |

[vr%ﬁﬂﬁm

In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre.

Find : (i) the length of the arc (ii) area of the sector formed by the arc.
22

Usen=—

[ E ]

12
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SECTION D

Y97 GEIT 25 T 34 T Tedh Y97 & &R 37T & |

Question Numbers 25 to 34 carry four marks each.

25, famfaftad =i x 3 fow g Fifsm
1 | I |

2a+b+2x:2a b 2x

Solve the following for x :
1 1

1 1
s s +__
2a+b+2x 2a b 2x

26, A % AEE AN 400 T ST BRETs afnTdt o SR 16 9 R, @
2 it ot e T i

Sum of the areas of two squarcs is 400 cm’. If the difference of their

perimeters is 16 cm, find/the sides of the two squares.

27.  Ife el Tmiak 2ol & 99w 7 US55 A 49 B 9T IGk YT 17 UST R1 T 289
2, 1 55 ol S 9UH ;2 T2 =7 AT T e

If the sum of first 7 terms of an AP is 49 and that of first 17 terms is 289,

find the sum of its first # terms.

28, g B Fr 7w ¥ fave firg o et Y et - @ T et e wo B
Bl

Prove that the tangent at any point of a circle is perpendicular to the radius

through the point of contact.

30/1/1 13 [P.T.O.
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30.

30/1/1

STRRTCT 6 U, 1 m, g O =Tt et g ox A e Tt Yamd €, S e A
T B W 0 o1 T9%1 Lt 2| g C R 0 o et Y, Wan 1 ) D W e b
m ! E R Threse it 3 | Rrg Fifvm B 2 DOE=90° %]

A
¢ D > ]
O
C
« = B > m
a 6

In Fig. 6, / and m are two parallel tangents to.a circle with centre 0,
touching the circle at A and B respectively. Another tangent at C intersects
the line / at D and m at E. Prove that ~ DOE=90°.

A D

T

Fig. 6

T HAR o ure-fog & o % Rt 1 3939 #imr 30° ¥ o) wew ¥ are-

forg @ M % R =1 s3e@ 101 60° & | AR TR 60 TSR A, @ wwm H
S4TE a Hifvm)

The angle of elevation of the top of a building from the foot of the tower is
30° and the angle of elevation of the top of the tower from the foot of the
building is 60°. If the tower is 60 m high, find the height of the building.

14
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31, THEHEH 12 e & Be ¥ 3 ercafien 89aM, 3 6 STefims SHMeR a1 3y
e AT & | TE H § U AT A1gosal A1 9T | TS Udeh =4fera o <
ST =1 TR T 2, a1 SRR 1 i R g wn saf (i) srcaften
YIaH 2| (ii) FAAF T 21aT $AFER B 3 AT gelt § & Fore ge
39 31fereR i 3 87

A group consists of 12 persons, of which 3 are extremely patient, other 6
are extremely honest and rest are extremely kind. A person from the group
is selected at random. Assuming that each person is equally likely to be
selected, find the probability of selecting a person who is (i) extremely
patient (ii) extremely kind or honest. Which of the above values you prefer

more.

32. UH WHIR IgHST ABCD & o7 oid A@,~4), B(-1, =3) T C(=6, 2) ¥ e
D = Tdu1ies 3ma ST qem ABCD =7 &%t 3 it |

The three vertices of a parallelogram ABCD are A(3, — 4), B(~1, —3) and
C(-6, 2). Find the coordinates of vertex D and find the area of ABCD.

33. 2 Ot STafes SHTE ST SEETER 9159 O U 0.4 ™ /R Y X Y U SeER I
H ST R | Tl 35 5 ST ot s 40 Tt ®, ) 3 Fifre fF s w2 & S A
Tt 3T TR fehaT 1@ ST |

Water 1s flowing through a cylindrical pipe, of internal diameter 2 cm, into

a cylindrical tank of base radius 40 cm, at the rate of 0.4 m/s. Determine the

s rise in level of water in the tank in half an hour.

30/1/1 15 [P.T.O.



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

nnnnnnnnnnnnnn

34.

30/1/1

o1 TR T T IV Gelt v T 0 > fodw F w2, Seeh
TES 24 Tt B a9 30k S @ et gy Rl & = e 30 9t qen
10 3ft &1 38 sM 3 ot =1eX 61 god w9 10 9fd 100 = St B S H I|
FHINT | [n=3.14 T ]

A bucket open at the top, and made up of a metal sheet is in the form of a
frustum of a cone. The depth of the bucket is 24 cm and the diameters of its
upper and lower circular ends are 30 cm and 10 cm respectively. Find the
cost of metal sheet used in it at the rate of Rs 10 per 100 cm®. [Use n=3.14]

16
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